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What is the result of a nonsense mutation?

O A different amino acid is produced
O A stop codon is created v’

(O An extra base pair is inserted

O A section of DNA is duplicated

A nonsense mutation results in a premature stop codon in the protein-coding sequence, leading to a
truncated and usually nonfunctional protein. This type of mutation can significantly impact the function of
the resulting protein and may lead to various genetic disorders.

Which type of mutation involves a single nucleotide change?

(O Chromosomal mutation
(O Frameshift mutation
O Point mutation v
O Inversion
A single nucleotide change in the DNA sequence is referred to as a point mutation. This type of mutation

can result in a change in a single amino acid in a protein or have no effect at all, depending on the nature
of the change.

Which technique is used to amplify DNA for mutation detection?

O Gel electrophoresis

(O DNA sequencing

O Polymerase Chain Reaction (PCR) v’
O Genetic testing

The technique used to amplify DNA for mutation detection is Polymerase Chain Reaction (PCR). PCR
allows for the selective amplification of specific DNA sequences, making it easier to identify mutations.
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What type of mutation does not change the amino acid sequence?

O Missense mutation

(O Nonsense mutation
O Silent mutation v/
(O Frameshift mutation

A silent mutation is a type of mutation that does not change the amino acid sequence of a protein, even
though the DNA sequence may be altered. This occurs because multiple codons can code for the same
amino acid, allowing for some mutations to be 'silent' in terms of their effect on protein synthesis.

Which of the following is an example of a chromosomal mutation?

(O Substitution

O Insertion

O Deletion

O Translocation v

A chromosomal mutation involves changes in the structure or number of chromosomes, which can lead
to genetic disorders or variations. Examples include deletions, duplications, inversions, and
translocations of chromosome segments.

Which of the following is a cause of induced mutations?

(O DNA replication errors

(O Natural selection

O Exposure to radiation v’
O Genetic drift

Induced mutations are caused by external factors such as chemicals, radiation, or biological agents that
alter the DNA sequence. These agents can lead to changes in the genetic material, resulting in mutations
that may affect an organism's traits or functions.

What is a mutation?

O Atype of cell division

O A change in the DNA sequence v’
(O A process of protein synthesis

(O A method of genetic inheritance

A mutation is a change in the DNA sequence of an organism's genome, which can lead to variations in
traits. These changes can occur naturally or be induced by environmental factors and can have various
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| effects on the organism's phenotype.

Explain how a frameshift mutation can affect protein synthesis.

/7

A frameshift mutation can cause a shift in the reading frame of the mRNA during translation,
resulting in an entirely different sequence of amino acids and often leading to a nonfunctional
protein.

Which of the following are types of point mutations? (Select all that apply)

(] Substitution v’
() Inversion

() Insertion v

() Deletion v’

Point mutations are classified into several types, including substitutions, insertions, and deletions. These
mutations can lead to changes in the amino acid sequence of proteins, potentially affecting their function.

Which methods are used to detect mutations? (Select all that apply)

() DNA sequencing v/
(JPCR v
(J Genetic testing v/
(1) Natural selection
Various methods are employed to detect mutations, including sequencing techniques, PCR (Polymerase

Chain Reaction), and microarray analysis. These methods allow for the identification and characterization
of genetic variations in DNA.

What are the potential consequences of a chromosomal translocation?
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Potential consequences of a chromosomal translocation include the development of cancers
such as leukemia, genetic disorders like Down syndrome, and other health issues resulting from
altered gene expression.

What are potential effects of mutations? (Select all that apply)

(J Genetic disorders v/

(J Increased genetic variation v’
(J No effect on the organism v’
(] Decreased protein synthesis

Mutations can lead to a variety of effects, including beneficial adaptations, harmful diseases, or neutral
changes that do not affect the organism. The specific outcome depends on the nature of the mutation
and its context within the organism's genome.

How can mutations be detected in a laboratory setting? Provide at least two methods.

/7

Two methods to detect mutations in a laboratory setting are DNA sequencing and polymerase
chain reaction (PCR).

Discuss the role of mutations in the process of natural selection.
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Mutations play a crucial role in natural selection by creating genetic diversity, allowing for the
adaptation of species to their environments through the survival of individuals with
advantageous traits.

What can cause spontaneous mutations? (Select all that apply)

(J Errors during DNA replication v’
(] Chemical exposure

() Radiation

(J Natural cellular processes v’

Spontaneous mutations can occur due to various factors, including errors during DNA replication,
spontaneous chemical changes in DNA, and environmental influences. These mutations arise naturally
without external intervention.

Which mutations can lead to a frameshift? (Select all that apply)

() Insertion v
(] Substitution
() Deletion v
() Translocation

Frameshift mutations occur when nucleotides are inserted or deleted from the DNA sequence, causing a

shift in the reading frame of the codons. This can lead to significant changes in the resulting protein, as
the entire sequence downstream of the mutation is altered.

In what ways can mutations be beneficial? (Select all that apply)

(J By providing resistance to diseases v’
() By increasing genetic diversity v’

(_] By causing genetic disorders

(] By leading to new adaptations v’
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Mutations can provide beneficial traits that enhance survival and reproduction, such as increased
resistance to diseases, improved metabolic efficiency, or adaptation to changing environments.

What is the primary role of mutations in evolution?

(O To decrease genetic diversity

O To provide genetic variation v’
O To eliminate harmful traits

(O To ensure genetic stability

Mutations introduce genetic variation within a population, which is essential for natural selection to act
upon, driving the process of evolution.

Why might some mutations be considered neutral, and how can they still impact evolution over
time?

Some mutations are considered neutral because they do not affect an organism's ability to
survive and reproduce. Despite being neutral, they can still impact evolution by increasing
genetic variation, which may later provide raw material for natural selection if environmental
conditions change.

Describe the difference between a missense mutation and a nonsense mutation.
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A missense mutation is a change in a single nucleotide that results in the coding of a different
amino acid, whereas a nonsense mutation is a change that creates a stop codon, terminating
protein synthesis prematurely.
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